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@ %z Multiplier les nomr‘:)érgzti(l‘/é::?:?iixpar des puissances
Nom: Date: Note:

4114,1 % 0.001 = 8880, 8 X 0.001 =

9384,4 x 0.1 = 4255,2%x0.01 =

8711,5 % 0.0001 = 2594,7 % 0.0001 =

3498,6 < 0.1 = 6640, 1 < 0.01 =

8615,7 % 0.01 = 5758, 8 x0.01 =

9890,9 x 0.1 = 1846 x 0.01 =

7730,2 %0.1 = 2210,5%x0.1 =

5873,7 x0.001 = 6658, 8 x 0.0001 =

1627,5 % 0.001 = 6408,5 % 0.1 =

7648, 3 x 0.0001 = 6409, 9 x 0.01 =
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Multiplier les nombres décimaux par des puissances
négatives de dix

Nom:

4114, 1 x 0.001 =4.1141

9384,4 x 0.1 =938.44

8711,5x0.0001 = 0.87115

3498,6 x 0.1 = 349.86

8615,7x0.01 = 86.157

9890, 9 x 0.1 = 989.09

7730,2 x 0.1 =773.02

5873,7 % 0.001 = 5.8737

1627,5 % 0.001 = 1.6275

7648, 3 x 0.0001 = 0.76483

Date: Note:

8880, 8 X 0.001 = 8.8808

4255,2 % 0.01 =42.552

2594,7 % 0.0001 = 0.25947

6640, 1 x 0.01 = 66.401

5758,8 x 0.01 = 57.588

1846 x 0.01 = 18.46

2210,5x0.1 =221.05

6658, 8 X 0.0001 = 0.66588

6408, 5 x 0.1 = 640.85

6409, 9 x 0.01 = 64.099
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